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The reduced system is :
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So
,
there are an infinite number of

solutions , one for each t
.

For example , if t = 0
then

¥÷¥÷¥ii
Xz = O

is a solution .

Or if t =L ,
then

:÷i¥¥±:i'
Xz = l

is another solution
.

And so on ,
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Solution
X= - Its

¥¥÷÷w = S

There are
an infinite number

of solutions .

For example , setting
5=0 and t -_ O

gives x
-

- O , y
-

- O
,
7=0,

w=O .

setting
5=1
,
t -- 2 gives

X =
O, y

= 4 ,
Z
-

- 2
,
w =/ .
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e::#¥
Now turn back into a system .

X
,
- 3/2 Xz = - I

÷.
this system

ns%n
it is

inconsistent.
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Now plug
into ① to get

x
,
= - S - E GI t 's HI

|=#Answers X
,
= - 4
,

X2=2 , X ,
= 7
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simplify

¥⇒nl IT:p:÷÷¥



÷÷÷÷y÷j
O O O O 0

reduced system is :
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x:÷¥÷¥i÷÷÷÷÷÷÷ . .÷s,x=§ - ft
- Is ⇐, + t - s

y=Totft
- Tos = E - ft - Is

I t
'where
tds

s

can be any
real
# g
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Set free
variables :

€
°

plugin
X2=5 - 27

t

plugin
X ,

- ECS -27T)
- Edt ) -- 2-12

t
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write down the reduced system :/

#i¥xFE
Because we

have 0=6

there are no
solutions to the

system .
It is inconsistent .
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2×2 = 0
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Write down the reduced system I
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assignfreevarial.IE#Xz=S

÷÷÷÷÷÷÷÷÷÷÷÷÷÷plug into
①

xfIs - t ) - Is - It

=
- fzs
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reduced system is :
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Assign free
variable :

- w -

- t

÷÷÷÷÷÷px÷÷E¥tz= -t t can be

any real

pwginl number

w = Yt
37 = t


